



Algebra Questions for CMAT

All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, electronic, mechanical, photocopying, recording or otherwise, or stored in any retrieval system of any nature without the permission of cracku.in, application for which shall be made to support@cracku.in

Questions

Instructions

For the following questions answer them individually

Question 1

What is the coefficient of x^2 in the expansion of $\left(5 - \frac{x^2}{3}\right)^3$?

A -25

B $-\frac{25}{3}$

C 25

D $-\frac{5}{3}$

Answer: A

Explanation:

$$\begin{aligned}\left(5 - \frac{x^2}{3}\right)^3 &= \left(5 - \frac{x^2}{3}\right) \left(5 - \frac{x^2}{3}\right)^2 \\&= \left(5 - \frac{x^2}{3}\right) \left(25 + \frac{x^4}{9} - \frac{10x^2}{3}\right) \\&= 125 + \frac{5x^4}{9} - \frac{50x^2}{3} - \frac{25x^2}{3} - \frac{x^6}{27} + \frac{10x^4}{9} \\&= -\frac{x^6}{27} + \frac{15x^4}{9} - \frac{75x^2}{3} + 125 \\&= -\frac{x^6}{27} + \frac{5x^4}{3} - 25x^2 + 125\end{aligned}$$

The coefficient of x^2 in the expansion = -25

Hence, the correct answer is Option A

Question 2

Given that $x^8 - 34x^4 + 1 = 0$, $x > 0$. What is the value of $(x^3 - x^{-3})$?

A 14

B 12

C 18

D 16

Answer: A

Explanation:

$$x^8 - 34x^4 + 1 = 0$$

$$x^8 + 1 = 34x^4$$

$$x^4 + \frac{1}{x^4} = 34$$

$$x^4 + \frac{1}{x^4} + 2 = 36$$

$$\left(x^2 + \frac{1}{x^2}\right)^2 = 36$$

$$x^2 + \frac{1}{x^2} = 6$$

$$x^2 + \frac{1}{x^2} - 2 = 4$$

$$\left(x - \frac{1}{x}\right)^2 = 4$$

$$x - \frac{1}{x} = 2 \dots (1)$$

$$\left(x - \frac{1}{x}\right)^3 = 8$$

$$x^3 - \frac{1}{x^3} - 3 \cdot x \cdot \frac{1}{x} \left(x - \frac{1}{x}\right) = 8$$

$$x^3 - \frac{1}{x^3} - 3(2) = 8$$

$$x^3 - \frac{1}{x^3} - 6 = 8$$

$$x^3 - \frac{1}{x^3} = 14$$

Hence, the correct answer is Option A

Question 3

If $x^4 - 62x^2 + 1 = 0$, where $x > 0$, then the value of $x^3 + x^{-3}$ is:

A 500

B 512

C 488

D 364

Answer: C

Explanation:

$$x^4 - 62x^2 + 1 = 0$$

$$x^4 + 1 = 62x^2$$

$$x^2 + \frac{1}{x^2} = 62$$

$$x^2 + \frac{1}{x^2} + 2 = 64$$

$$\left(x + \frac{1}{x}\right)^2 = 64$$

$$x + \frac{1}{x} = 8 \dots (1)$$

$$\left(x + \frac{1}{x}\right)^3 = 512$$

$$x^3 + \frac{1}{x^3} + 3 \cdot x \cdot \frac{1}{x} \left(x + \frac{1}{x}\right) = 512$$

$$x^3 + \frac{1}{x^3} + 3(8) = 512$$

$$x^3 + \frac{1}{x^3} + 24 = 512$$

$$x^3 + \frac{1}{x^3} = 488$$

Hence, the correct answer is Option C

Question 4

If $x + \frac{1}{x} = \frac{17}{4}$, $x > 1$, then what is the value of $x - \frac{1}{x}$?

A $\frac{9}{4}$

B $\frac{3}{2}$

C $\frac{8}{3}$

D $\frac{15}{4}$

Answer: D

Explanation:

$$x + \frac{1}{x} = \frac{17}{4}$$

$$\left(x + \frac{1}{x}\right)^2 = \frac{289}{16}$$

$$x^2 + \frac{1}{x^2} + 2 = \frac{289}{16}$$

$$x^2 + \frac{1}{x^2} = \frac{289}{16} - 2$$

$$x^2 + \frac{1}{x^2} = \frac{257}{16}$$

$$x^2 + \frac{1}{x^2} - 2 = \frac{257}{16} - 2$$

$$\left(x - \frac{1}{x}\right)^2 = \frac{257-32}{16}$$

$$\left(x - \frac{1}{x}\right)^2 = \frac{225}{16}$$

$$x - \frac{1}{x} = \frac{15}{4}$$

Hence, the correct answer is Option D

Question 5

If $2x^2 - 7x + 5 = 0$, then what is the value of $x^3 + \frac{125}{8x^3}$?

A $12\frac{5}{8}$

B $16\frac{5}{8}$

C $10\frac{5}{8}$

D $18\frac{5}{8}$

Answer: B

Explanation:

$$2x^2 - 7x + 5 = 0$$

$$2x^2 - 2x - 5x + 5 = 0$$

$$2x(x - 1) - 5(x - 1) = 0$$

$$(x - 1)(2x - 5) = 0$$

$$x - 1 = 0 \text{ or } 2x - 5 = 0$$

$$x = 1 \text{ or } x = \frac{5}{2}$$

When $x = 1$,

$$x^3 + \frac{125}{8x^3} = (1)^3 + \frac{125}{8(1)^3} = 1 + \frac{125}{8} = \frac{133}{8} = 16\frac{5}{8}$$

Hence, the correct answer is Option B

Question 6

If $x - \frac{1}{x} = 1$, then what is the value of $x^8 + \frac{1}{x^8}$?

A 3

B 119

C 47

D -1

Answer: C

Explanation:

$$x - \frac{1}{x} = 1$$

Squaring on both sides,

$$x^2 + \frac{1}{x^2} - 2 = 1$$

$$x^2 + \frac{1}{x^2} = 3$$

Squaring on both sides,

$$x^4 + \frac{1}{x^4} + 2 = 9$$

$$x^4 + \frac{1}{x^4} = 7$$

Squaring on both sides,

$$x^8 + \frac{1}{x^8} + 2 = 49$$

$$x^8 + \frac{1}{x^8} = 47$$

Hence, the correct answer is Option C

Take a CMAT free mock test

Question 7

If $x^4 + \frac{1}{x^4} = 727, x > 1$, then what is the value of $(x - \frac{1}{x})$?

A 6

B -6

C -5

D 5

Answer: D

Explanation:

$$x^4 + \frac{1}{x^4} = 727$$

$$x^4 + \frac{1}{x^4} + 2 = 729$$

$$(x^2 + \frac{1}{x^2})^2 = 729$$

$$x^2 + \frac{1}{x^2} = 27$$

$$x^2 + \frac{1}{x^2} - 2 = 25$$

$$(x - \frac{1}{x})^2 = 25$$

Since $x > 1$,

$$x - \frac{1}{x} = 5$$

Hence, the correct answer is Option D

Question 8

If $2x^2 - 8x - 1 = 0$, then what is the value of $8x^3 - \frac{1}{x^3}$?

A 560

B 540

C 524

D 464

Answer: A

Explanation:

$$2x^2 - 8x - 1 = 0$$

$$2x^2 - 1 = 8x$$

$$2x - \frac{1}{x} = 8 \dots (1)$$

Cubing on both sides,

$$8x^3 - \frac{1}{x^3} - 3 \cdot 2x \cdot \frac{1}{x} \left(2x - \frac{1}{x}\right) = 512$$

$$8x^3 - \frac{1}{x^3} - 6(8) = 512 \text{ [From (1)]}$$

$$8x^3 - \frac{1}{x^3} - 48 = 512$$

$$8x^3 - \frac{1}{x^3} = 560$$

Hence, the correct answer is Option A

Question 9

If $y = 2x + 1$, then what is the value of $(8x^3 - y^3 + 6xy)$?

A 1

B -1

C 15

D -15

Answer: B

Explanation:

$$y = 2x + 1$$

$$2x - y = -1 \dots (1)$$

Cubing on both sides, we get

$$8x^3 - y^3 - 3 \cdot 2x \cdot y (2x - y) = -1$$

$$8x^3 - y^3 - 6xy(-1) = -1 \text{ [From (1)]}$$

$$8x^3 - y^3 + 6xy = -1$$

Hence, the correct answer is Option B

CMAT Free Solved Previous Papers.

Question 10

If $x - \frac{2}{x} = 15$, then what is the value of $(x^2 + \frac{4}{x^2})$?

A 229

B 227

C 221

D 223

Answer: A

Explanation:

$$x - \frac{2}{x} = 15$$

Squaring on both sides,

$$x^2 + \frac{4}{x^2} - 2.x.\frac{2}{x} = 225$$

$$x^2 + \frac{4}{x^2} - 4 = 225$$

$$x^2 + \frac{4}{x^2} = 229$$

Hence, the correct answer is Option A

Question 11

If $2x + 3y + 1 = 0$, then what is the value of $(8x^3 + 8 + 27y^3 - 18xy)$?

A -7

B 7

C -9

D 9

Answer: B

Explanation:

$$2x + 3y + 1 = 0$$

$$2x + 3y = -1 \dots\dots(1)$$

Cubing on both sides,

$$8x^3 + 27y^3 + 3.2x.3y(2x + 3y) = -1$$

$$8x^3 + 27y^3 + 18xy(-1) = -1$$

$$8x^3 + 27y^3 - 18xy + 8 = -1 + 8$$

$$8x^3 + 27y^3 - 18xy + 8 = 7$$

Hence, the correct answer is Option B

Question 12

If $x + \frac{1}{x} = 7$, then $x^2 + \frac{1}{x^2}$ is equal to:

A 47

B 49

C 61

D 51

Answer: A

Explanation:

$$x + \frac{1}{x} = 7$$

Squaring on both sides,

$$x^2 + \frac{1}{x^2} + 2.x.\frac{1}{x} = 49$$

$$x^2 + \frac{1}{x^2} + 2 = 49$$

$$x^2 + \frac{1}{x^2} = 47$$

Hence, the correct answer is Option A

CAT Previous Papers PDF

Question 13

If $(2x + y)^3 - (x - 2y)^3 = (x + 3y)[Ax^2 + By^2 + Cxy]$, then what is the value of $(A + 2B + C)$?

A 13

B 14

C 7

D 10

Answer: D

Explanation:

$$(2x + y)^3 - (x - 2y)^3 = (x + 3y)[Ax^2 + By^2 + Cxy]$$

$$[2x + y - (x - 2y)] \left[(2x + y)^2 + (2x + y)(x - 2y) + (x - 2y)^2 \right] = (x + 3y)[Ax^2 + By^2 + Cxy]$$

$$[x + 3y] [4x^2 + y^2 + 4xy + 2x^2 - 3xy - 2y^2 + x^2 + 4y^2 - 4xy] = (x + 3y)[Ax^2 + By^2 + Cxy]$$

$$(x + 3y) [7x^2 + 3y^2 - 3xy] = (x + 3y)[Ax^2 + By^2 + Cxy]$$

Comparing both sides,

$$A = 7, B = 3 \text{ and } C = -3$$

$$A + 2B + C = 7 + 2(3) - 3 = 10$$

Hence, the correct answer is Option D

Question 14

If $9(a^2 + b^2) + c^2 + 20 = 12(a + 2b)$, then the value of $\sqrt{6a + 9b + 2c}$ is:

A 4

B 3

C 6

D 2

Answer: A

Explanation:

$$9(a^2 + b^2) + c^2 + 20 = 12(a + 2b)$$

$$9a^2 + 9b^2 + c^2 + 20 = 12a + 24b$$

$$9a^2 - 12a + 9b^2 - 24b + c^2 + 20 = 0$$

$$9a^2 - 12a + 4 - 4 + 9b^2 - 24b + 16 - 16 + c^2 + 20 = 0$$

$$(3a - 2)^2 - 4 + (3b - 4)^2 - 16 + c^2 + 20 = 0$$

$$(3a - 2)^2 + (3b - 4)^2 + c^2 = 0$$

$$3a - 2 = 0, 3b - 4 = 0, c = 0$$

$$a = \frac{2}{3}, b = \frac{4}{3}, c = 0$$

$$\sqrt{6a + 9b + 2c} = \sqrt{6\left(\frac{2}{3}\right) + 9\left(\frac{4}{3}\right) + 2(0)}$$

$$= \sqrt{4 + 12}$$

$$= \sqrt{16}$$

$$= 4$$

Hence, the correct answer is Option A

Question 15

If $x + \frac{1}{x} = 2\sqrt{5}$, then what is the value of $\frac{(x^4 + \frac{1}{x^2})}{x^2 + 1}$?

A 14

B 17

C 20

D 23

Answer: B

Explanation:

$$x + \frac{1}{x} = 2\sqrt{5} \dots \dots (1)$$

$$\left(x + \frac{1}{x}\right)^3 = 40\sqrt{5}$$

$$x^3 + \frac{1}{x^3} + 3 \cdot x \cdot \frac{1}{x} \left(x + \frac{1}{x}\right) = 40\sqrt{5}$$

$$x^3 + \frac{1}{x^3} + 3(2\sqrt{5}) = 40\sqrt{5} \text{ [From (1)]}$$

$$x^3 + \frac{1}{x^3} + 6\sqrt{5} = 40\sqrt{5}$$

$$x^3 + \frac{1}{x^3} = 34\sqrt{5} \dots \dots (2)$$

$$\frac{(x^4 + \frac{1}{x^2})}{x^2 + 1} = \frac{x(x^3 + \frac{1}{x^3})}{x(x + \frac{1}{x})}$$

$$= \frac{x^3 + \frac{1}{x^3}}{x + \frac{1}{x}}$$

$$= \frac{34\sqrt{5}}{2\sqrt{5}}$$

$$= 17$$

Hence, the correct answer is Option B

Download Excellent App for CMAT Preparation

Take a CMAT free mock test

CMAT Free Solved Previous Papers.

CAT Previous Papers PDF

Download Excellent App for CMAT Preparation

Take Free CAT Mock (with video Solutions)

Join MBA Telegram Group

Cracku CAT Success Stories

Take a MAH-MBA CET Mocks Here

Subscribe to MBA Exams Youtube Channel